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X = input("12+23 = ") # =& 20 =14
a = int(x) # AE Hog =
if a == 12+23:

print("™ X{1")

else:
print("HFE?")
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» random.randint(a, b)
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» turtle as t
random
t.shape("turtle") # 'HSF0|" Y[ HFO| A= ALE
X In range(500): # HE0|E 500H 2%I9
a = random.randint(1, 360) # 1~3600{| M OtF ==Lt =2} a0 XMZ
t.setheading(a) # HEO0| gzt 5 ZtE 2 =&
t.forward(10) # 7 E20|7} 102+2 Q4O 2 0|=
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» turtle t
random
t.shape("turtle") # 'HE0|" 2L AFO0| 22 At
t.speed(0)
x in range(500): # 7{50|E 5001 &%
a = random.randint(1, 360)  # 1~3600{| Al OFF ==Lt =2} a0 X%t
t.setheading(a) # H=0| Biek2 a 242 =&

b = random.randint(1, 50) # 1~50 ALO|0f| R= OFF ==Lt =2t b0 M
t.forward(b) # 102 b2 DX
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» random

a = random.randint(1, 30)  # a0l 1~30 AtO|Q] Q|9 =5 XZ

b = random.randint(1, 30)  # pof| 1~30 AtO|Q| Qlo|o| &2 XAt

print(a, "+", b, "=") #=HE =9

X = input() # THS QlEEtof «Of MAHEAIY 2 XZHE)

C = int(x) # HWE o) XS T2 HiE
a+b==c N

print(" = Xf!")

print("HFE.?") 23




Al A
=]

1 EHX[7]

—

A
L

Al oo

=H. O

=
10

oK

17



= Al

» Qo "B HiM 2H|Z

2 +5 +% /-2 HESH £

il

=0{A 5] =
oA =X

It
E
=

22 O FO AN XA
e 2o HHL0] B

18



